

Erratum

Statistical evaluation of pairwise protein sequence comparison with the Bayesian bootstrap

Gavin A. Price, Gavin E. Crooks, Richard E. Green and Steven E. Brenner

Bioinformatics 21(20), 3824–3831

An error occurred in the typesetting of the above article. These following equations were incorrectly represented:

	Standardbootstrap	Bayesianbootstrap
No normalization	$\frac{1}{n^2 - n}$	$\frac{w_i w_j}{\left(\sum_{k=1}^n w_k\right)^2 - \sum_{k=1}^n (w_k)^2}$
Linear normalization	$\frac{1}{n(s-1)}$	$\frac{w_i w_j}{\left(\sum_{k=1}^s\right) \left(\left(\sum_{k=1}^s w_k\right) - w_i\right)}$
Quadratic normalization	$\frac{1}{(s^2 - s)S}$	$\frac{w_i w_j}{\left(\left(\sum_{k=1}^s \sum_{l=1}^s w_k \cdot w_l\right) - \sum_{k=1}^n (w_k)^2\right) S}$

They should have been displayed as follows:

	Standard bootstrap	Bayesian bootstrap
No normalization	$\frac{1}{n^2 - n}$	$\frac{w_i w_j}{\left(\sum_{k=1}^n w_k\right)^2 - \sum_{k=1}^n (w_k)^2}$
Linear normalization	$\frac{1}{n(s-1)}$	$\frac{w_i w_j}{\left(\sum_{k=1}^n w_k\right) \left(\left(\sum_{k=1}^s w_k\right) - w_i\right)}$
Quadratic normalization	$\frac{1}{(s^2 - s)S}$	$\frac{w_i w_j}{\left(\left(\sum_{k=1}^s \sum_{l=1}^s w_k \cdot w_l\right) - \sum_{k=1}^s (w_k)^2\right) S}$

The publisher wishes to apologise for this error.

Please note that high definition figures are available at *Bioinformatics* online.